Lec-8. AT &

EHFIF: XA (wulisu@sdust.edu.cn)
Ed W : wulisu.cn


mailto:wulisu@sdust.edu.cn
http://wulisu.cn

2. —EMIE &
021 —HFHRAMMET =F

022 —_thEZEARAMMETE
@ /G nThife _tE EEHH

3. n EMEMET =



F AT FH R LK

Step-1 145 X 89 BUALE L 1 Y 49 BUA A,

Step-2 Bii Y e950A KK,
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BREMEE X OBEEEA fx(1), —00 < 2 < +o0,
KY=X MEZTHE.
B Y=X2>0,
Fy(y) = P{Y <y}
= P{X* <y} = P{-\/y< X< V/3}
= Fx(\/y) — Fx(—Vy)-

Fr(y) = Fiyly) = {fx(\/?)(\/??)’ N, AN

0 y < 0.

%@(fX(\/@ + fx(=v/9)) y> 0.

y<0. O
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REMEZE X EABEE K fr(z),—o0 < 2 < +00.

L& g(z) RATFHER ¢(x) > 03 ¢(2) <0),
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KMy K] a<y<p;
friy) = {O A

H+ a=min{g(—00), g(+00)},
P = max{g(—00), g(+00)}, h(y) £ g(z) &9 R &%,

5/46
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B AL, B (a,p) WPH#EARE, TH
2 Fx(z), Fy(y),

o y<a Fy(y)=P{Y<y}=0,
o y>p, Fy(y) = P{Y <y} =1,

e a<y<p,

Fy(y) = P{Y <y} = P{g(X) < y}
= P{X < Wy)} = Fx(h(y))

fx[h(y)]H () a<y<p;

PTVA, fy(y) = Fiy(y) = {O HA
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() = Fyl) = {J(‘;X[h@)](—h/(y)) o<v<p ]

‘]i
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a = min{g(a), g(b)}, p = max{g(a), 9(b)}.
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A (X,Y) 90 H Bd, R X A= YV 550 %
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o Flu,y) & (r,y) W HEAAAA (X, Y) E LA
& (myy) AT B mAZ T % R AT 78 L% 427
BN AR R

o Py < X<my < Y<yp}=
Fa, yo) — Flm, 1) — Fl@1, y2) + Flw, y1).
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(1) Flz,y) RE=Z o4 y 69 R BBHEL

PRAAEE B R 8 y, 4 1 > 1y B,
F<£C27 y) > F(xla y);
SEEZERBR 6 1, % g >y A,

F(x7 yQ) > F(ﬂf, yl)
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F(z,y) &3P

PE R
(2) 0 < Flz,y) < 1.
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PR
(2) 0 < Flz,y) < 1.
AL Bl Ay,
F(—o0,y) = lim F(z,y) = 0;

T——00

STAEE B E W g,
Flz,—oc0) = lim F(x,y) = 0.

y——00

F(—00,—00) = 0, F(+00,+00) = 1. /46
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(3) Flo,y RAT o H&EL, X T y H&E.

B Flz+0,y) = Flz,y), Flz,y+0) = Fz,y).
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(4) Y(z,91), (22, %), 71 <1y, 1 < W, A
Flxg, y2) — Flag, y1) + Flan, y1) — Fla, y2) 2 0.
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(4) Y(z,91), (22, %), 71 <1y, 1 < W, A
Flxg, y2) — Flag, y1) + Flan, y1) — Fla, y2) 2 0.
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F(z,y) 89 MR

PR
(4) \V/(l’h yl)? (an y?)r I < 9, U1 < Y2, ﬁ
Flxg, y2) — Flag, y1) + Flan, y1) — Fla, y2) 2 0.

1iE:
Ploy < X< my,pn < V< 1}
=P{X <3,y <Y< 1p} - P{X<m,; <Y< o}
=P{X<m, V<) - PX<n, Y<y}
—P{X<m, Y<pt+P{X<m, Y<y}

=F(12, y2) — F(22, 1) + F(2, 1) — Fla, 2) > 0 []
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PAX =i} =
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f2: (X, Y) THIBUL (0,0), (0,1), (1,0), (1,1).

P(A)P(B|A)
P{X=0,Y=0} = P{X=0}P{Y=0]X=0} = X

m R ENX P(AB) =

P{X=0,Y=1}= P{X: 0}P{Y=1|X=0} = 5 X

P{X=1YV=0}= P{X—l}P{Y 0| X =1} =4

P{X=1,Y=1}= P{X: IIP{Y=1X=1} =3 x
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<0 R y<08, Flo,y) = P{X <z, Y<y} =0,

0<z<1,0<y<1H, Flay =p1 ==,

0<z<1ly>1H8, Fzy =pu+pe =,

r>1,0<y<1H, F(x,y)=p11+p21—%
1

r>1,y>18, Flo,y) =

\D’v\ﬂ’vm%\ﬂv
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F(z,y) = ZZP@'
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Flz, y) = / : / OO T, v) dud

MAR (X, Y) ZELA AT =, K flr,y)
A(X,Y) R EFE, R X Fo YV OGRS AEEE L
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flz, y) &3P

(1) flz,y) =0
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flz, y) B9t S

(1) flz,y) > 0;
(2) [ [0 Az, y)dady = F(+00, +00) = 1;
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flz, y) B9t S

(1) flz,y) >0;

(2) [T [T fz, y)dedy = F(+00,+00) = 1;

(3) & G A& 20y Fa@ Lo RE, & (X, V) %& G
P a9 A& Ay

PxY) € 6= | /G s y) dudy
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flz, y) &I PER

(1) flz,y) >0;

(2) [T [T fz, y)dedy = F(+00,+00) = 1;

(3) & G A& 20y Fa@ Lo RE, & (X, V) %& G
P a9 A& Ay

PxY) € 6= | / s y) dudy

(4) # fla.y) £ (v,y) &%, WA S0 = 0y
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lim

A0 Az\y
. 1
- AAIxILZ(l): Aa:Ay[F(:E + Az, y+ Ay)
— F(z+ Az, y) — F(z,y + Ay) + F(z, y)]
_OPF(z,y)
020y
=fz, ).

XEWE fr,y) £ (1,y) £, 4 AzAy RE,
Ple< X<zt D,y < YV <y+ Dy}~ flz, y)Dely,
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BIUTE 2= fla,y) 72—/ &,

+00 400
/ fla, y)dedy = F(4-00,+00) = 1

%iﬁ;/\ﬂ;;Z—,ﬂagy)-E Oy -F iy 89 = 18] X 3% 69 R R
A 1.
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+00 400
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ETNT 2= flz,y) B 20y -F & &) = 18] X B A R4
A 1.

P{(X,Y) e G} ®MEF T WA G Ak, A @
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2¢~(25ty) x>0,y > 0;
flz,y) =
0 H Ak

K (1)F(z,y), (2) P{Y < X}
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F(z,y) / / flz, y) dzdy

(I—e™)(1—e) >0,y > 0;
)0 A,
(2) # (X, V) & AT d L AL S 9 4 4R, Bp
{(Y<X}={(X,V)e G}, ¥ GH 20y LAXK y=2 A KL
T o7 34
)

P{Y< X} = P{(X,Y) € G} = //f ) dudy

+oo +oo 1
/ / ~QeY) drdy = 5
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62(1—;:2) o% 0102 02
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f( ?J) 2770'10'2\/ 1— p2

‘;B‘\;‘:P 3373/6R;U17H270'170'27P iﬁyj'%ﬁ’%i, H gy > 0702 > 07

—1<p<1 WA (X, Y) RASKA yy, Uy, 01,0, p 89 =4
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B —A n MG E (X, ..., X,) "1 ERILE
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BA n BEAVEF (X, .., X,) 897 5 5 K
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